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PART A: Structure
Directions: Choosc the word or phrase (1), (2), (3), or (4) that best complctes the biank,
Then mark the correct choice on your answer sheel.

1-  Tao be cffective, lesson report forms should bhe prepared by a teacher or group of
tecachers to match the goals and content of the particular conrse -—--—-----,
Iy are taught 2) to be teaching it
3) they arc (caching 4) having laught

2-  Research shows that --—---—---—- actually burns more calories and fatigues vour brain,
reducing your overall capacity for productive thought and work.
1) task switching 2) switching of task
3) the switching of task 4) the task switching which

3- When vou’re in a situation --------------—— you feel like you don’t have control, it can be
easy to become paralyzed by fear and unable to move forward.
1) that 2) thatin it 3)init 4% where

4-  Only when total production cxpands faster than the rate of labor forec growth,
1) the uncmployment rate falls 2) doces the unemployment rate lall
3) lalls the unemployment rate 4) it lall does the unemployment rate

5-  While vigorous attempts to reduce obesity should be aimed at —-—--—cmeee—- , the most
successtul efforts are likely to be those dirceted toward children,
1) all affected 2) aftecting all those are
3) all which arc allceled 4) all ol which alleeted

6-  From this profoundly revolutionary form of art, then, : moral,
psychological—werce excluded, and so --—------- .

1} all emotions except certain aesthetic ones were
2) all emotions excepl certain acsthelic ones were (00
3) did all ecmotions excepl certain acsthetic ones cither
4) were all cmotions exeepl ceriain acsthetic ones
7-  The normally reserved seientists, unable to repress their excitement, let out a tremendous
cheer and gathered around Fermi ———-—----- his hand.
[} shock 2) to shake
3) by shaking 4) whom they shook
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8- [ am not surprised by ------—---- by the public against the service provided by banks,
1) increasing the complaints dramatically
2) the increased complaing dramatically
3) the dramalic inerease in complaints
4) the increase ol dramatically complaining

9-  If the three satellites had heen deploved as the designers intended, their electronic
sensing devices would ---------- valuable information,
1} be providing 2) have been provided
3) have 1o provided 4y have provided

10- That same evening the Algerian press -------—--- seemed to shoot down yet another rumor.
1) issucd a denial, 1t 2) 1ssucd a denial which
3) which issued a denial, 4) by issuing a denial that it

PART B: Written Expression

Directions: Choose tlhe word or phrase (1), (2), (3), or {(4) that must be changed for the
senfencee to be eorrect. Then mark the correct choice on vour answer shect.

11- The coffee cups suddenly went spinning as an exploding knocked the soldier flat on
1 2 3 4

his back.

12- Thepossibility that we humans are bornto run has inspired many studies, books,
1 2
lectures and there are debates in recent years, including the journalist Christopher
3 4
MeDougall’s 2009 best scller, “Born to Run.”

13- In my bedroom in Mumbai, my mattress is made of high-density foam, a bettersurface
1 2
to move on for someone like me, somcone is with muscular dyvstrophy.
3 4

14- Scientists have been studying the effects of television for decades, generally fecusing on
1 2
whether watehing violence on TV correlate with being violent in real life.
3 1

15- When stress begins, a small area deep in the brain called hypothalamus pulls the
1 2 3 4
strings.

16- lmaging experiments show that part of the temporal lobes, on the left and right sides of
1 2
the brain, expericnee greatly increased blood flow not just during panic attacks but
3 4

from everyday anxiety.
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17-

18-

19-

20

To most observers, the essence of intelligence is cleverness, is a versatility in solving
1 2 3
novel problems .
4

The next yvear, during paleontological excavations, primitive stone tools came to light,
1
bringing with themselves the tantalizing possibility that fossilized human remains
2 3
might eventually follow .
4

Despite of these difficultics, what we want to know is if bees and other insects “can
1 2

feel und sense the environment from a first— person perspective.”
3 4

Some people start to learn a foreign language in ordcer that they may experience
| 2

something new, while others doso in order to simply have a morce intcresting time
3

when travel abroad,
4

PART C: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank. Then
nuirk the correct choice vn yvour answer sheet.

21-

22-

24-

206-

27-

The assailant was ---—----- by police in a hidcout near where the attack had taken place,
1) confiscated 2) unveiled 3) apprehended 4) maintained

The loss of hoth her parents at such an early age tovk its ---------- on her mentally and
she became disturbed during her adolescent years.

1) toll 2] strain 3) harm 4 burden

Thosc living on the streets are at their most volncerable during the cold winter months
when they are ---—---—--—-—--—- to the elements.

1) restricted 2) accessible 3) ¢xposed 4) pertinent

The government has sanctioned the sending of -—--—--—-- aid to the arcas worst affected by
the conflict.

I) favorable 2) steady 3) cordial 4) humanitarian

Our hotel room was surprisingly --------—-, especially taking inte consideration that it was
very reasonably priced.

1) derelict 2) commodious 3) disorderly 4y decorous

If vou -——--—--—--——-- the speed limit in a construction zone, the tine is doubled.

') hasten 2) aceelerate 3) prolong 4 exeeed

ITis holiday was -—--—--—--—--—-- short by two days on account of his having to rush back

home in time for the birth of his third grandson.
1) cut 2) turned 3) left 47 tuken
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28-  After the union representatives and the school board reached 8 - , teachers
were allowed to return to the classroom.
1) qualification 2) compromise 3) determination 4} dilemma

29- The prohibitive cost of college education iz putting many good students from
disadvantaged areas off the idea of -—-——--—--—-——- their studics further.
1) fulfilling 2) inclining 3) pursuing 4} attaining

30- Alcthough somc of the SWAT tcam mcembers wanted to burst into the drug house, the
chief exercised -------——--—---- and waited until the timing was right.
1) concern 2) prudence 3) constraint 4) timidity

31- Why do you have to be so -------——-------- ? Look at the mess vour thoughtlessness has got
us intn; vou should consider the consequences next time.
1) ingenious 2) gloomy 3) belligerent 4) impetuous

32- You are my —--—--—--———- and you will obey me. Failure to do so will result in your
dismissal.
1) subordinate 2) imitator 3) pragmalist 4} rebel

33- The writer of the movie consulted a professional athlete in order to make his sports’ film
more ----------,
1) cooperative 2) sociable 3) plausible 4) stylish

34- Dozens of people in the town of Walkerton fell ill after the local water supply became
====--=--= with K. coli bacteria.

1) contaminated 2] absorbed 3) diffused 4) depleted
35- They were forced to -----—--- the accusation and issue a full apology live on air.
1) translform 2) underling 3) precede 4) withdraw

PART D: Reading Comprehension

Dircetions: Read the following three passages amd decide which choice (1), (2), (3), or (4) that
best answers cach question. Then mark the correct cheice on your answer sheet,

PASSAGE 1:

Unfortunately, over the last century the Sahara desert has steadily crept southwards,
caling into once productive Sahel lands. Uniled Nations surveys show thal over 70 per
cent of the dry land in agricultural use in Africa has deteriorated over the last 30 vears.
Droughts have become more prelonged and more severe, the most recent lasting over
24 vears in parts of the Sahel region. The same process of desertification 1s taking
place across southern Africa as the Kalahari desert advances into Botswana and parts
ol Seuth Alrica.

One of the major causes of this desert advance is poor agricultural land use, driven
bv the pressures of increasing population. Overgrazing—keeping toe many farm
animals on the land means that grasses and other plants cannot recover, and scarce
water supplies are exhausted. Overcultivation—trying to grow too many crops on poor
land—resulis in the soil becoming ceven less fertile and drier, and beginning o break
up. Soil erosion [ollows, and (he land turms into deserl.

Another cause ol desertilication is loss ol (ree cover. Trees are cul down [or use a3
fuel and to clear land for agricultural use. Tree roots help to bind the soil together. to
conserve moisture and to provide a habitat for other plants and animals. When trees
are cut down, the soil begins to dry and loosen. wind and rain erosion increase. other
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36-

37-

39-

40-

41-

43-

plant species die and eventually the fertile topsoil may be almost entirely lost, leaving
only bare rock and dust.

‘The effects of loss of topsoil and increased drought are irreversible. ‘They are,
however, preventable. Carelul conservation ol tree cover and sustainable agricultural
land ws¢ have been shown 1o hall deterioration ol soils and lessen the clfcels of
shortage of rainlall. One project in Kita in south-west Mali [unded by the UNDP has
involved local communities in sustainable management of forest, while at the same
time providing a viable agricultural economy based on the production of soaps,
beekeeping. and marketing shea nuts. ‘This may be a model for similar projects in other
West African countries,

What does the passage mainly discuss?

1) Causes ol a phenomenon and possible ways (o combal il

2) Description of the effects of a worldwide affliction

3) Measures to enconrage a rise in people’s subsistence level

4) Reasons why reducing the desertification rate requires international cooperation

Which of the following can be understood from the passage about droughts in Africa?

1) They last shorter than they did in the past but inflict more damage.

2) They have grown in their [requency ol eccurrencee by 70% in the Last three decades.

3) They seem to be more prolonged and severe in southern than in northern Africa.

4) They have effects that are hard to reverse but can be deterred in some ways.

Which of the following is true about Botswana and parts of South Africa, according to

the passage?

1) They seem Lo be amenable Lo the proposals made by the UN.

2) They have witnessed the same amount of land deterioration over the past 20 vears.

3) They should both act against the threat posed to them by the Kalahari desert.

4y They are two countries whose anti-desertification project should be emulated by
other Alrican countrics.

What is the function of paragraph 1 in the context of the whole passage?

1) It defines some key 1erms.

2) Tt raises the alarm.

3) It traces the origin of a problem.

4) 1t aims to prove the truth of a controversial claim.

Which of the following is NOT mentioned in the passage as a direct contributory factor
to desertification?

1) Increasing population 2) Growing oo many <rops on poor land
3) Overgrazing 4) Cutting down of trees

Which of the following rhetorical functions or techniques is NOT used in paragraph 3?
1) Process descriplion 2) Funclion descriplion

3) Causality 4) Analogy

According to the passage, when the tree roots in a tract of land arc lost, --—--—---,

1) some animal species die out in the long run

2) the ecological balance is left intact only for some time

3) the soil becomes vulnerable (o the wind and rain

4) the top soil eventually morphs into rock and dust

The word “viable” in paragraph 4 could be replaced by which of the following?

1) lucrative 2) practical 3) intense 4) comprehensive
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44-

46-

47-

Which of the tollowing best desceribes the author’s attitude towards the projeet in Kita?

1) Mild skepticisim 2) Approbation
3) Incredulity 4) Impartiality
PASSAGE 2:

Prior learning, therefore, is of great importance and might assist students in learning
new information. No one is a hlank slate. When a student receives new information, he
ot she will reconcile it with what is already known in the long-term memory. This
might lcad le reevaluating or revisiting existing undersianding, and the prior
knowledge will help in judging the accuracy ol the new inlormation reecived. I the
new information is judged to be accurate, it will be incorporated and thus knowledge
in this arca will be expanded.

Prior knowlcdge mighi unlortunalely also causc some stickiness o old, incorrect
idcas, and unconscious resistunce 10 change. For example, Lhrmonn {1995) mentions
that in the [iln, A Privale Universe, during the commencement ¢eremony in Harvard
Yard in the late 1980s, twenty-two graduating students, faculty, and alunni were
asked why it is warmer in summer than winter, and why the moon has a different
shape each night. Only two of those questioned provided the right answer, despite the
[act that they should have been repeatedly given this inlormation while in school.
Ninth graders in a ncarby school of good qualily were then asked the same questions,
and gave the same erroneous answers as those at Harvard. They were then taught
about these scientific phenomena and asked the same questions again. vet clung to
their preconceived notions despite having been taught the correct scientific
explanations, It would seem, therefore, that during class time, the teacher asked canned
questions and the students gave canned answers, while all along their preexisting
theories remained invisible to the teacher and therclore unchallenged. This implics that
even if teachers teach the right materials, it still might not impact on true learning, if
the teacher remains unaware of the way students think. Epabling processes whereby
student thinking becomes more visible to the teacher is of crucial importance.

The main purpose of the passage is to ———--—--—- ;

1) cast doubt on an cstablished theory

2) deseribe the function of a phenomenon

3) dclincate the sieps involved 1n a process

4) reconcile an old hypothesis with new findings

What does “This™ in paragraph 1 refers to?

1) Reeeiving new inlormation

2) The [act that people are not blank slates

3) Reconciling incoming information with old inlormation

4) Consolidating new information in the long-terin memory

Why does the author mention “Ehrmann™ in paragraph 27

1) To support an carlicr assertion

2) To prove that people unconsciously judgc others

3) To show the superiority ol people’s unconscious mind Lo their conscious mind

4) To explain why people tend to believe that whatever is new may be a threat to their
identity
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48-

49-

The passage suggests that what has alrcady been learned --—--—--—,

1) may at times be a deterrent to learning

2) affects not only people’s thinking but also their fecling

3) worky difTerently with students at difTerent educational levels

4) lcads to traditional mcthods ol (caching which arc incllicacious

The word “those” in paragraph 2 refers to --—---—--- ;

1) alumni taking part in a survey

2) two questions asked at a ceremony

3) questions about the moon and winter

4) two oul of lwenty-two graduating students, lacultly, and alumni

The results obtained from the two experiments reported in paragraph 2 seem to be
1) contradictory 2) tentative 3) congruous 4) challenging

Which of the following is true about one finding of the experiment conducted on ninth
graders?

1) The answers thal they gave o thelr teachers™ questions were (lawed.

2) The school they atended did not care much about the quality ol learning.

3) The teachers’ teaching of some concepts failed to alter their previous beliefs.

4} The teachers tended to teach them the same old concepts via the same erroneous

methods.
The word *canned™ in paragraph 2 could best be replaced by which of the following?
1) predelermined 2) exam-oriented
3) concocted 4} elaborated

Which of the following best desceribes the author’s attitude towards the subjeet of the
passage?
1) Critical 2) Indiflcrent 3) Prejudiced 4) Disinterested

PASSAGE 3:

Women tend to be better than men in judging the character of others, as well as
expressing empathy  for them. The reason, says British psychologist Simon
Baron-Cohen ol the University ol Cambridge, 1s thal (rom childhood on, girls arce
instructed to be sensitive to the feelings of others and to offer consolation when
warranted. This type of socialization helps to hone senses, intuition, and observational
skills. Women are also more likely to make decisions based on “gut feeling™—or
better yvet, on “amvedala feeling.” And finally, women draw on their language centers
more than men. As a resull. women are olien beller al verbalizing and therelore have
an easier time in gaining emotional access to other people.

Baron-Cohen and a growing number of neuroscientists contend that the left brain
contains actual “social brain regions™ that enable the brain to accurately perceive other
people. According to Baron-Cohen. the left brain develops much faster in female
lctuscs and babics, as well as in young girls, cstablishing a lifclong advantage in
language and social intelligence.

Comparced with men, women arc also thought (o usce the scnse ol smell more when
deciding on a person’s likability. In 2002, experimental psychologist "amela Dalton
proved that females have a much more discerning nose than males. Once again, the
amygdala plays the deciding role in assessing olfactory information. Scent is therefore
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39-

6l-

closely connected to emotional reactions. Psychologist Noam Sobel found that the
amygdala reacts strongly not just to foul odors but also to pleasant smells. Sobel
thereby supports Cunningham’s claim that this structure could be responsible for
gpontancous [eelings of atlraction and for choosing a mate, as well ag lor lear and
anlipathy.

Regardless ol how important smell. language, and the social brain are, the lesson is
that we establish important reactions and make many important decisions based not on
precise thinking but on feelings of attraction or rejection. Nature has developed a
system for quickly figuring out whether a stranger is friendly or threatening. ‘This
system operates without the intervention of the intellect, The downside 1s that we
cannot cscape its function. The amygdala and the social brain manipulate us whether
we wanl them 1o or not. OF course, our lorebrain and conscious reasoning have input
and can veto assessments. But when it comes to emotional questions, perhaps we
modern, thinking people should put more trust in our sniffers. which have been
perfected over thousands of years.

According to Simon Baron-Cohen, women's superiority over men in sympathizing with
others ----—--—--,

1) is congenital 2) is an acquired skill

3) varics across cultures 4) leads to more socialization on their part
The word *hone” in paragraph 1 could best be replaced by which of the following?

1) ameliorate 2) utilize

3) shun 4) discriminale belween

The passage supports which of the following about language centers in men and women?

1) They differ in size in the two genders.

2) They are more advanced in women than in men.

3) They are more linked (o the emotional center in women than in men,

4) T'hey are instrumental in helping women to gain emotional access to other people.

The passage provides sufficient information to answer which of the following questions?

[}y Why is it that men avoid making many important decisions based not on precise
thinking but on feelings of attraction or rejection?

2) What motivaicd Noam Sobel (o conduct an cxperiment similar o the onc alrcady
carried out by Pamela Dalton?

3) What accounts for women’s lifelong advantage over men in language and social
intclligenee?

4) Why are girls socialized in a way different form the way boys are?

What part docs the following sentenee play in the context of paragraph 47

“Of course, oor forchrain and conscious reasoning have inpot and can vefo assessments.”

1) It identifies the cause of the phenomenon deseribed in paragraph 4.

2) 1t highlights an exception to the rule set in paragraph 4.

3) It simply reiterates the main point ol paragraph 4.

4) It qualitics a claim made in paragraph 4,

The word *“its” in paragraph 4 refers to -------—-- a

1) nature 2) system

3)iniellect 4} intervention of the intelleet
Which of the following rhetorical deviees is used in the passage?

1} Process description 2) Chronology of events

3) Appeal to authority 4) Analogy
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PART A: Structure

Directions: Choose the word or phrase (1), (2), (3), or (1) that best completes the blank Then

muark the correct choice on your answer sheet.

61-

62-

63-

64-

606-

67-

68-

69-

As thousands of retail leases come up for remewal, their duration is increasingly
shrinking, as businesses grapple with an unpredictable future and look for ways --—--—-—
CORtS,

1) by slashing 2] to slash 3) that slashes 4) that they slash
Design logic views the business model as an outcome of creating new organizational
structures or ------—--—— to pursue a new opportunity.

1) existing structures were changed 2) changes structures that exist

3) ol cxistence of change in siructures 4) changing cxisiing slruclurcs

mmmmmemme= i1 1981, the journal was originally published articles and reviews with a focus
on cthical problems cncountered by professionals working in large organizational
structures,

1) Cstablished 2) To be cslablished

3) To establish 4) Been established

This paper ensurcs that all readers have the same construoct in mind ---------- are able to
compare findings between studics.,

I') and that they 2) that they 3) and that 4) they

We define perceived deceit as oceurring when a customer believes that an emplovee has
intentionally tried to make them believe ---—-------

1) untrue semething is 2) something as it 1s untrue
3) as untrue something that is 4) something that is untrue
---—--——-- are metal deposits and energy reserves,

1) Perhaps and beguilingly 2) More beguiling perhaps
3) It 18 perhaps beguiling that 4) To be beguiling perhaps

[n onc of the most stunning reversals in the history of marketing, the Coca-Cola
company in July 1985 yiclded to thousands of irate consumers demanding that it --—-------
back the original Coke formula.

1) had to bring 2) brought 3) bring it 4) of bringing

The company went into the market blindly without having theroughly thought through
the connotations for their core business, ----—--—-—- to develop an cxit strategy in casc
things should go wrong.

1) they did not bother cither 2) neither they bothered

3) they were nor bothered 4) nor did they boiher

The job was gquite labor intensive, -----——---—- brought the cost up from the original
cstimalc,

[} that is what 2) which is what

3) which it 1s 4) why it is

Silversmiths complied with these requests by melting the money in a small furnace,
adding a bit of copper to form a stronger alloy, -————---- the alloy in rectangular blocks.
1) by casting 2) and by casting

3) casting 4) and casting



W dondoce 659A (NFPA) 08 = (g s 901 9 31 g Lt 3 000

PART B: Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank Then

mrk the correct choice on vour answer sheet.

71-

72-

73-

74-

76-

77-

78-

79-

80-

All staff have been warned that they -—--------- the axe should productivity not improve,
and that no one, no matter how senior, is exempt from having to up their performance.
1) turn 2) burn 3) lace 4) drop

The company ---------- an unexpected profit warning on Monday sparking a two-thirds
drop in its share price as investors engaged in panic-sclling.

1} issued 2) retracted 3) operated 4) andited

The company wias quick to reassure shareholders that its cash flow is in a very healthy
state and that there is no --—--—-- issue and will be none for the foreseeable future.

1) liquidity 2) inventory 3) vield 4) margin

The company will -—--—-—- the policy-holder against loss of or damage to the insured
vehicle,

1) lorbid 2) endorse 3) preclude 4) indemnily

His insurance company had told him not to admit --------—-- , even though it was ¢learly his
fault.

1) jurisdiction 2) leverage 3) liability 4) proposition

Many goods coming here are subject to customs --—-----—-,

1) involvement 2) turnover 3) release 4) duty

Some countries try o b¢ —--—--—--—- in ¢certain commoditics s¢ that they are not dependent
on imports.

1) sell-[inancing 2) scll-sullicient 3) mereenary 4) lucrative

The personnel department helps to organize -------—-- program for cach new employee,

1} an orientation 2) an appreciation  3) a notification 4} a specification
With effective advertising, a company can become 2 ---------- name.

1) cost-clective 2) suburban 3) houschold 4) high-risc

Over the past 20 years, the tourist industry in Guam has grown rapidly, creating a
construction -----—-— for new hotcls.
1} boom 2) rotation 3) dynamic 4) plunge

PART C: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits

cach spacec. Then mark the correet choice on your answer shect.

Y our manager stops vou and says she needs 1o have a word about your performance in
the recent projeet. You worry about it all weekend, (81) -——-—-- whal vou might have
done wrong. When you step into her office on Monday morning, she begins by
praising you for the good work you've done on the project. and you wonder if this is
the oblizatory (82) -—--———-- that starts off the tvpical ‘feedback sandwich’. You know
how the feedback sandwich goes: say something nice. say what vou
(83) - want 1o say, say something nice again.

In an atcmpl 10 (84} ——-—mmmm- some positivily into their [cedback, many managers rely
on sandwiching negative lecdback between two positive (83) -———-——- . However, when
feedback becomes such a routine, employees can start to perceive positive feedback as
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81-
82-
§3-
84-
85-
86-
87-
88-
89-
-
91-
02-

94-
95-

(86) ———mmm—mm- a form of sugarcoating the negatives, thus (87) —-—-—- its value.
Instead. positive feedback should not simply be seen as something to cushion the
R . but should be delivered so as to remforce and encourage good
performance. Below are some (89) ———memeem- 1o help you make positive leedback
(90) - -

Don’t always lollow positive [cedback with negative [eedback: When poesitive and
negative teedback always appear to go hand in hand. the positives can become
devalued and ignored. {(91) —----—-— there are times when positive feedback is given
for its own sake and resist the (92) —-------- to offer constructive criticisin.

Cultivate a “growth mindset’: Psychologist and “growth mindset’ (93) -=mmmmamm-
Carol Dweck spoke of the plasticity of the brain and our ability to develop skills and
talents that we might not have been good at (o starl with. Many of us tend (o [ocus our
praise on the end result and seemingly innate talents. e.g. “You really have (94) --—-—-
for details” or “You have a real talent for organizing events™. {95) -—--—--—-- . research
suggests that by focusing on the process of how things are done praising effort,
experimentation, and problem-solving strategies we can encourage the development
of new gkills and the continued honing of Lalents.

1) requesling 2) discouraging 3) eliminaling 4} wondering

1) advice 2} command 3) epilogue 4) praise

1) softly 2) really 3) insincerely 4) inmtially

l) cajole 2) probe 3) inject 4) penetrate

1) commenis 2) manilcstations 3) obligations 4} pledges

1) forcclully 2) simply 3) structurally 4} sponlancously
1) diminishing 2) exposing 3) crafting 4y demanding
1) vitality 2) performance 3) negative 4y worth

1} syllahi 2) stimuli 3) taboos 4) tips

1) erode 2) emerge 3) count 4) withstand

1) Recall 2) linsure 3) Speculate 4) Regard

1) discrimination 2) lemplatlion 3} inspiration 4y interpreiation
1) proponent 2) detractor 3) clite 4) pacilisl

1) atrend 2y aclue 3) an eve 4) an inkling

1) Consequently 2} For instance 3) However 4y Furthermore

PART D: Reading Comprehension

Directions: Read the following four passages and decide which choice (1}, (2), (3), or (4) that

hest answers cach question. Then mark the correct choice on your answer sheet.

PASSAGE 1:

RoboScience, a UK company specializing in commercial robotic technology, recently
launched its RS-01 Roboldog—the world’s most powerful, most advanced, and largest
commercial legged robot. Compared to other robotic animals. such as those produced
by Sony, this new invention is the “L'ormula 1™ of robotic pets. l'echnical and desian
bregkihroughs made during the creation of this remarkable new robol will form the
platform for next-generation lightweight robots that will automate many ordinary tasks
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and eliminate human involvement in high-risk commercial and military environments.
Nick Wirth—formerly a designer of Formula One racing cars and co-founder and
technical director of RoboScience—and a small tcam of highly-skilled specialists
created the RoboDog in only seven months using a state-ol-the-art compuler-aided
design ol provided by sollware house UGS,

Mark Oales, co-founder and marketing dircclor ol Northamptonshire bascd
RoboScience, said, TAll legged robols now [or sale are nothing more than
enterlainment. This 1s an advanced compuler in animal [orm—it’s history in the
making. We have done what was thought impossible—creating a robot that 1s light and
strong. vet large enough to show the true potential of legged robotics that are
genuinely useful to human life.” The RobholDog will be sold as a hand-made limited
edition product tailored to the customers’ requirements. A maximum of 200 robots
will be offered for sale worldwide over the course of this vear at a price of £20.,000.

The RoboDog 1s the sizc of an adult Labrador and is powerlul cnough o raise itsell
[rom the ground carrving a [ve-year old child. s sophisticated motor capabilitics und
balancing sollware allow il to climb obstacles und perlorm handstands, and ils motion
and color detection sensors enable it to find and kick a football. It connects to the
Internet via a wireless network. and can be controlled from a PC. [t can also recognize
sixty oral commands.

96- What is the primary purpose of the passage?
1) To explore the implications ol a linding
2) To proposc a temporary solution (o a problem
3) To introduce a technological feat in a particular area
4) To chronicle a development and illustrate its applications
97- The author mentions “Formula 1” in paragraph 1 in order to ---——---- :
[} emphasize the connection between car-racing and robotics
2} reter to the high quality of the product being described
3) demonstrate that robot making is like a competition
43 present a modcl [or icchnological cmulation
98- The word “breakthroughs” in paragraph 1 is closest in meaning to --------——- L
1) knowhow 2) expertise 3) amenities 43 leaps
99-  Which of the following can be inferred from paragraph 1?
1) RobeScience is an establishment that builds robots mainly for domestic use.
2) There are now some high-risk human tasks which are likely to be taken over by
robots,
3) To function properly, robots nced to be lighter than those in usc in industry and
military now.
4) The computers used by software house UGS to make robotic pets are the company’s
own production.
100- All of the following can be inferred from paragraph 2 about RoboDog EXCEPT that it

I8 -,

1) not only light and strong bul also large cnough
2) in a sense kind ot a computer

3) entertalnment-oriented

4) tailor-made
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The passage suggests that the RoboDogs pussessed by different customers ------——-- !
1) may have some uncommon features

2y are not all legged ones

3) arc adaptable even aficr their manulacture

4) comg in various sizcs and shapces

Which of the follosving is the main rhetorical function of paragraph 3?

1) Partial classilication 2) Process descriplion

3) Physical description 4) Function description

The passage provides sufficient information to answer which of the following questions?
1) Why do RoboDog producers think they can scll 200 robels in a year?

2) What animals do the robots produced by Sony look like?

3) What makes it possible for the RoboDog to kick a ball?

4) How powertful is an adult Labrador as an animal?

The word “it” in paragraph 3 refers to -—--——--—-—- ]

1} Robollog 2) Internet
3) Wireless network 4) PC
PASSAGE 2:

Many of the major supermarker chains have come under fire with accusations of
various unethical acts over the past decade. They've wasted tons of food, they've
underpaid their supplicrs, and they've contribuled o excessive plastic wasle in their
packaging, which has had its impact on our environment.

But supermarkets and grocers are starting to sit up and take notice. In response to
growing consumer backlash againgt the huge amounts of plastic wasie generated by
plastic puckaging, somc ol the largest UK supermarkcls have signed up 1o a pact
promising 1o translorm packaging and cul plastic wastage. In 4 pledze (o reuse, recycle
or compost all plastic wastage by 20235, supermarkets are now beginning to take some
responsibility for the part they play in contributing to the damage to our environment,
with one major supermarket announging their plan 1o eliminate all plastic packaging

in their own-brand products by 2023,

In response to criticisms over food waste, some supermarkets are donating some of
their food surplus. llowever, charities estimate that they are only accessing two per
cent of supermarkets’ total food surplus, so this hardly seems to be solving the
problem. Some say that supermarkets are simply not doing cnough. Most supcermarkets
operate under a veil ol scereey when asked [or exact ligures ol lood wastage, and
without more transparency it is hard to come up with a systematic approach to
avolding waste and (o redistributing surplus [ood.

Some smaller companics are now uking mallers mto their own hands and ollcring
consumers a greener, more environmentally friendly option. Shops like Berlin's
Original Unverpakt and Bulk Market are plastic-free shops that have opened in recent
years. encouraging customers to use their own containers or compostable hags. Online
grocer I'armdrop eliminates the need for large warehouses and the risk of huge food
surplus by delivering (resh produce rom local farmers Lo its customers on a daily basiy
via clectric cars, oflering larmersy the lion®s share of the retail price.
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17-

108-

109-

110-

111-

There is no doubt that we still have a long way to go in reducing food waste and
plastic waste. But perhaps the major supermarkets might take inspiration from these
smaller grocers and gradually move towards a more sustainable future for us all.

Which of the following best describes the organization of the passage?

1) A new wend is discussed and then viewpoints both [or and against it are described.

2) A phenomenon is described and then the underlying reasons [or its persisience are
depicted.

3} A problem is mentioned and some actions taken by various entities to alleviate it are
mentioned,

4) The historical origing ol a problem arc described, and then various measurcs that
have suceesslully resolved it are discussed.

According to the passage, onc reason why the largest UK supermarkets have signed up

to a pact promising to transform packaging and cut plastic wastage is -——---—- :

1) people’s resistance to excessive waste due to plastic packaging

2) their growing awarcencss of the havoc they arc wrecking on the environment, which
would ullimately lead 1o their own demisce

3) the projection that all supermarkets will be required by law in 2025 (0 stop plastic
packaging

4) their realization that they themselves are victims to flawed economic policies in
whose planning they have no role

The word “This” in paragraph 3 refers (0 -—--—-—-- .

1) charitics™ ¢stimation

2) amount ol [ood surplus supermarkcets donale

3) involvement of charities in distributing donations made by supermarkets

4) criticisms leveled against supermarkets for their negligible donations

Which of the following can be inferred about the supermarkets mentioned in paragraph 37

1) They would doom themselves 1o bankruptey il they donale all of their [ood surplus.

2) The total lood surplus they have can mect the lood needs of the majorily of the poor.

3) They cannot compete with one another efficiently unless they have some
underground operations.

4y The way most of them handle their operations prevents a systematic management of
waste avoidance and surplus food redistribution,

The author mentions Berlin’s Original Unverpakt and Bulk Market {paragraph 4)

primarily in order to -—---—-—--- !

1) delineate the way small shops have taken the initiative in being environmentally
friendly

2) provide role models for other busingsses to make themselves more cconomical

3) prove that the bigger a business is. the more insensitive 1o the environmenl il is

4) arguc that lurnishing customers with their own contlainers or compostable bags is a
viable solution

The word “produce™ in paragraph 4 is closest in meaning to -----—-—--- ,

1) food excess 2) crops

3) agricultural inputs 4) waste generaled by farmers

According to paragraph 4, the price that shops pay to farmers tor their harvest is ----—---,
1) cqual to whelesale prices 2) mor¢ than they have to

3) satisfactory to the farmers 4} determingd on a daily basis
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Which of the following best desceribes the author’s attitude towards the possibility of
reducing food waste and plastic waste?

) disapproval 2) pragmatic and frustrated
3) guarded oplimism 4) carclul dismissal
PASSAGE 3:

Today, a journalist is commonly perceived as someone who will do anyvthing to
acquire a story and rush it into the newsroom., But in the carly nincleenth century,
newspapers based their business on their local coverage. nol the timeliness ol their
news. The journalist Charles T. Congdon (clls ol onc cditor who rcluscd a journalisi’s
request to visit a nearby town to report on a speech, saying., “Semebody will send us
something about it in two or three days.” Some newspapers printed on a different day
each week to fit in with the social life of the editor: others reduced the amount of news
they printed in a husy week. in case there was a shortage of news the following week.
Aparl [rom local storics. most other news was laken [rom the pages ol other papers.
Newspapers reported each other’s stories freely; news moved so slowly that there was
no danger that one paper would steal another’s storv and be on sale at the same time.
‘The free exchange of information that resulted was beneficial to all concerned. though
it meant that news was often days or weeks old by the time it reached its readers.

In addition, some of the larger newspapers had correspondents in foreign countrics
who would wrile in o report the Latest news [rom distant citics. Their letiers ook
weeks o arrive, bul belore the establishment of a welegraph neiwork in the sccond hall
of the nineteenth century, there was no other way to send international news. It was
commonplace for foreign news to be weeks or months old by the time it appeared in
print. ‘The limes of london had a particularly extensive network of foreign
carrgspondents so that ils largely businesy readership could be kept informed of
overseas political developments that might allect trade. Forcign reports also covered
the arrival and departure ol ships and dclailed iheir cargocs. Bul since the news
traveled no taster than the ships that carried it, the January 9, 1845, edition ot The
{imes included reports from Cape 'own, South Africa, that were eight weeks old.
What docs the passage mainly discuss?

1) The life of the journalist in the nincteenth century

2) The difficulties of running a newspaper in the past

3) The lengthy delay between events and their report in nineteenth-century newspapers

4) The cooperation among newspapers in the nincteenth cenfury

Why does the author provide Charles T. Congdon’s story about a particular editor in

paragraph 17

) To provide an example of a common migunderstanding about newspaper cditors n
the ningicenth century

2) To illustrate the point that newspapers in the nincteenth century were not cspecially
concerncd aboul providing up-lo-date news

3) To explain nineteenth-century editors’ reluctance to report news that other papers
would likely report

4) To describe both the working life and the social lite of an editor in the ninetegnth
coentury
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The word “frecly™ in paragraph 1 is closest in meaning to -—-----—- .

1) without restriction 2) without payment

3) without authority 4) without responsibility

It cun be inferred from the first paragraph that the practice of newspapers reporting
each other’s stories was beneficial for all concerned because it -—--—--—-,

1) allowed newspapers a simple way to provide non-local news to their readers

2) provided readers with more local news and newspapers with more readers

3) made newspapers inexpensive to publish and cheap to purchase

4) introduced competition between newspapers thal gave readers more choices

According to the first paragraph, in the nineteenth century a newspuaper was primarily
concerned with its coverage of —--—-—---,

1) breaking news 2) international news

3) business news 4) local news

Which of the following practices is presented in the first paragraph as an example of

nineteenth-century newspapers’ attitude toward timeliness?

1) Printing several davs a week

2} Limiting the amount of news one week to avoid a possible shortage the next

3) Sending someone Lo rescarch a story two or three days alier the event happenced

4) Waiting 1o scc whether other newspapers would report a particular cvent

According to the second paragraph, The Times of London used forcign correspondents

because

[} it needed several sources for stories in case there was a shortage of news

2) travelers necded te know the arrival and departure schedules of lTorcign ships

3)ils business readers necded to know about lorcign political situations that could
alleet trade

4) British newspapers were required to publicize the cargoes of all departing and
arriving ships

According to the second paragraph, which of the following is truc of the January 9,

1845, edition of The Times of Loadon?

1) It was delivered to the concerned readers when it was of no use.
2) It contained news reports that were very dated.

3) It carried reports primarily from South Africa.

4) Il locused on the details of cargo ships.
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